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VIl Semester 5 Year B.A.,LL.B. (Maj.-Min. System)/B.Com.,LL.B./
B.B.A.,LL.B. Examination, October/November 2022 (June 2022)

Duration : 3 Hours

LABOUR LAW - |

Instructions : 1. Answer Q. No. 9 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

questions.

2. Q. No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or
Kannada completely.

Define and differentiate between Lock-out, Lay-off,
retrenchment and closure.

Ren B3, chﬂmasm 209, [ TRENT B emat‘:agao*oaagt
#@ NBNRYRINT QRINTS), T, 300, DR TN WBVANTIY, WI0O.

Analyse the submission and certification of ‘Standing Orders’
under the Industrial Employment (Standing Orders) Act, 1946.
A0 STEBNTIR, T ASTRA T, BRI CTOROT B3T3, eNB dodezss
(m@o&)e STESNT) OV, 1946 2} DFEXA0.

Examine the provisions pertaining to the registration of Trade
Unions under the Trade Unions Act, 1926.

FOWF T ROPNE ROCOTIES ?,.)TE‘ QT FOBONTTY, FoF T FOPNY
V0T, 19260 R0 Jodedd.

Explain the appointment, powers and functions of a
commissioner under the Employee Compensation Act, 1923.
©°800 S% TOTIT ©HA0RR, 19230 8RR 303083 Sew0508,
L9TOT TONR mod:rﬁe;‘sgt SAnel-To R

Max. Marks : 100

Marks : 16

Marks : 16

Marks : 16

Marks : 16
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Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

.2

What are the different benefits available to the employees
under the E.S.l. Act, 1948 ?

N80T To%, W Fo0WT, 194838 ©RODY, ©YITOD EATAIA
APOYNEO R ?

Explain the concept of deduction. Analyse what deductions
may be made for absence from duty and for recovery of loans
under the Payment of Wages Act, 1936.

RNe3T BRI Eu‘aﬁegdaﬂoda a.}ri‘ DRORD. VeI Rowwod) (TRWS)
e300, 19368 &R0 é@ﬁﬁs rsjdo TOROIMINE ToNR To®
DOTOTORERONE BNE TOWOR VLI DTN HeST FRIT LOINT
27} DFEARD.

What are the provisions pertaining to ‘Health’ under the
Factories Act, 1948 ?

Tosmor Ny o0d), 19483 vRohY, BURMT 0N |UT
03N OCRR)R) ?

Marks : 16

Marks : 16

Marks : 16

Write short notes on any two of the following : Marks : 2x8=16

83 ESNIYNTE CINFTTETR HTBE OFO LTS 2TOW0

(@) Voluntary Arbitration under the Industrial Disputes
Act, 1947.
B3R, N8 DTG BHICDRD, 19470 ©BHY, FOI00 608
mzsiﬁ%%.

(b) Immunities of Trade Unions under the Trade Unions
Act, 1926.
TUWFT BOPNS SO0, 1926 T WRCDY, FWFT
BODNAPN VB DTCWSNLD.

(c) Dependants under the E.S.I. Act, 1948.
SPBT0 Dok, R BHRODRO 19488 ©RBODNEY LHOOUSL.
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Q. No. 9. Solve any two of the following problems : Marks : 2x10=20
B3 TPNT AT xmﬁimﬂm& WNRBOX :

(a) Thomas, a member of a registered Trade Union resigns
from the said trade union. He claims refund of subscription
amount paid by him. The Trade Union refuses. Decide.

OO QA0LOD/RO  WOTD  JPCOTIOWNE  TWFT  ROPT
ATHTNTR. AT ESE CoweTRD  VeRT WT I ATHZ,
VT, 203TONZOHOZ FePBROBID. TFT FOTR) WTI
Bre03odRY STFOABY. JFFORD.

(b) A development officer of the LIC of India is dismissed
from his employment. She challenges the impugned
action on the ground that she was a workman. Decide
whether a development officer is a workman or not.

POTSCOT 2D Wl INeow) Sai W), veleeten! eﬁepaﬁdﬁgj
©RTHOODRY, ReICWVOT  WPNRRIYRIBE. & BRFTIO0ID T
TOWFTRD D0 T BB 83 =[P /DSOS @%ﬁo@eﬁ.
2IOTS00) 2363 ST ANBOT AOBH 2o, wzpa’b% SlALplelever vy
TOF T Q0T TONEFVWIBITC ?

(c) Ajoy, a motor driver driving with a high speed rams into a
tree and gets killed in the accident. His employer refuses
to pay compensation on the ground that the accident was
caused by rash and negligent driving. Decide whether the
employer is liable to pay the compensation.

SHEREOTF D0W  TIBS WO 98,08 TPINOW WOBTDRY
BOROWY BOTE WTYR WTFBTY, ITT BROTHS. BT
BROBT AT 3¢ BT ToNR BLPNTRFEWOT TOBZBIY
WEROWATOOW SNT) ToT FTOTIT QB WG, TYFFOW?
OB, B BFORQ, TRITD TOTITRTY, VB
mz;ﬁzs#&mm@a?o&e ROTO APFORD ?




